SN 8BS
M YSH FOUME HOUSN(SEHLSM/SY - =E)

Eol: ADBOEE 2 CERT
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
2s5H 800,995 824,069 N23,074
S0 FOUME HASKN(sHHSH/sE - &) 201,860 186,660 15,200
AMSEHSEE 29 151,860 136,660 15,200

EHEE XA 76,660 76,660 0
202 044l 1,500 1,500 0
01 2L 1,500 1,500 0
= 0 & 1,500 1,500 0

OEstAIY &2 X0 =2WH &304
60,000& *3H x53] 900
OALZHAL L FEAN Yl
60,000 *2H *53] 600
301 Qietg Aal=a 75,160 75,160 0
05 S&-01& - -HEESEAMZ 73,660 73,660 0
= Ol & 73,660 73,660 0
Os& Jl2sY 200,000& »22H x12& 52,800
oan=3 200,000& »22H *23| 8,800
(@)= RS =, 20,0003 x22H x23| 128 10,560
OEtE & 3H| 25,000& 30 23| 1,500
09 AIAHIEAZ 1,500 1,500 0
= 0l & 1,500 1,500 0
OLZFNE MOIU S5 F48XE4
10,000 *30Y *x23] 600
OAMNHZ=ZR HAS EHAL B4
10,0003 *30H 33| 900
XIS S 5HAHR! (301 & 010l &F) 60,000 60,000 0
201 282 A Y| 25,000 26,000 A 1,000
01 Ar2 22l 25,000 16,000 9,000
= 0l & 25,000 16,000 9,000
OFA2 0| gxod 29 15,000
— A SAEX ME 30,000 *»100H 3,000
— =S2XNXNE M 2,000& *2,000% 4,000
—0d& 02 B&ElLs 500,000& x4 3] 2,000
— 0 Jtd sE &3 200,000& *x53] 1,000
—#H=5 &) LS 500, 000& *4JH 2~ 2,000
—# =25 LIS 0| 1,500,000& 23] 3,000
Odsstd 29 10,000
— A2 300,000& 2H *103] 6,000
— Tz 29| 200,000 «1038l 2,000
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2N BSH
HE: FSH FOMH BASH(SYHYLN/5Y - 5&)
ool AIRIEOIEE 29 CERE
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
— sz 1,000,000 *23] 2,000
401 ANSHIL LY 35,000 30,000 5,000
01 Al&HI 35,000 30,000 5,000
= 0 & 35,000 30,000 5,000
OBS=0t HUWEX 2T &X
20,000,000 *14] 20,000
OFS=H0 MHESHX 22 &3
10,000,000 *14! 10,000
OUSUHY =T ME DOBBH HESE
ol & X 625,0002 *8H 5,000
ZolFo MY 5,800 0 5,800
201  LEr2YH] 5,000 0 5,000
01 AtR22lY| 5,000 0 5,000
=0 & 5,000 0 5,000
OFCIUASIRE =5 100,002 +20% 23] 4,000
OFQUFOOIA AL (BHE S HE)
1,000,0008! *14} 1,000
301 LerEA3 800 0 800
09 AR A 800 0 800
=0 4t 800 0 800
OFQI=GN BE S2PI AHLS
20,0002 %2084 x23] 800
ZOIRA L ME2Y 9,400 0 9,400
201 sty 8,400 0 8,400
01 AtR2lY| 8,400 0 8,400
=0 & 8,400 0 8,400
OFQIRAIME Ler4SH 100,002 +122 1,200
OFQARXFIY slo4g
20,0008l %252 * 122 6,000
OFQRXME T2 egad
100,000% * 128 1,200
301 LsBA3 1,000 0 1,000
09 BAAHIEAS 1,000 0 1,000
=0 & 1,000 0 1,000
OFQURX LS S SFX A3t
40,0002 +25% #13] 1,000
NETIE PR 50,000 50,000 0
MEBEH AL 50,000 50,000 0
401 ANZHILLTHY 50,000 50,000 0
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HE: FSH FOMH HASH(SYHILN/5Y - 5&)
Sl MEOIFHL (B9 @
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES iz T BlRE2
01 Al&HI 50,000 50,000
= 0 & 50,000 50,000 0
OBS H&0IS A5HE FUIZA
15,000,000 * 14! 15,000
OBS YBOIE S2EFAMY
15,000,000 * 14! 15,000
OFelgs 212 lgshs  20,000,0002 14! 20,000
FSO SYIYURE(SYHLLM/5Y - 58) 491,000 530,000 39,000
SX=BIETE SR 491,000 530,000 39,000
SIIUEN S ARR SR 491,000 530,000 39,000
401 ANSHILLTHY 491,000 530,000 39,000
01 Al&HI 489,800 528,980 £39,180
=0 & 489,800 528,980 £39,180
OFS 52012 OtA2EFAL
10,0008 *1,500m 15,000
OZS =202 C2ETFUAY
120,000 *190m 22,800
OFS ZH0IS OIAREHAL
12,0008 %2000 24,000
O2BS 2302 S2EIMY
75,0002 *200m 15,000
OYS 2202 S2JHIMY
100,000 *150m 15,000
OZS MH0IS BH+2 HHI AR
200, 0002 *100m 20,000
OFS M&0IS H+2EHIAL2
25,0002 *800n 20,000
OFS SX0IS OtAREH AL
10,0002 x2,000m 20,000
OZS SHXOIS 2 FUIAY
15,000,000 * 14! 15,000
OFS FWOIS SH+EHUIAY
25,000,000 *14! 25,000
O2S HBDFH S2IYRATAY
300, 0002 10 3,000
OYUS SBOIS NISIXFY FHAY
500, 000 *50n 25,000
OZS SEOS NSEN22AY
10,000,000 * 14! 10,000
OBS SBX0IE S2EFAMY
30,0002 *500m 15,000
OFS Y202 LSIHUIMY
10,000, 0002 * 14! 10,000
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x s . 0 & o H = ol -
CHE L BR(BH) - NRAY - BES 5 o T =2
OEs 2308 2 EZHIAY
10,000& *2,000m’ 20,000
OC2s =20t AZ0tA2EHAMY
10,000& *2,000 m* 20,000
OEs aF0ts FUHEHAEINAY
120, 000& *100m 12,000
OZS FH0S s2MEE L SUHEUIA
& 15,000, 000& * 14! 15,000
OCES ZH02 Ot AZTHEEAMS
10,000& 2,000 m* 20,000
OEs 2d0IS SZEZZAY
75,000& *200m 15,000
O S s4t0ts Z=UHEHIAY
20,000,000 =14l 20,000
OE&s &X0tS 2 FHIAY
600,000& *25m 15,000
OEs SAH0ISE ST EZZAY
72,000& *250m 18,000
O2sS &SNS IS LEX A
125,000& *80m 10,000
O3S L=20t= =2 ZHIAS
15,000, 0002 14! 15,000
OEsS &0t =2 FHIA
15,000, 000& * 14! 15,000
O2s 4s0ts st dgdAMY
10,000, 000& * 14 10,000
O3s 402 ot EZHIAY
15,000, 000& * 14! 15,000
OEs OIZUHs0tS AZ0OAZTEEAY
10,000& 1,500 m* 15,000
03 Al&=20bl 1,200 1,020 180
= Off & 1,200 1,020 180
OFESH A2 FU=SJAMY AIE20UH]
1,200, 000& 14 1,200
HH2LAZH(FSH)(IIEH/IIE) 108, 135 107,409 726
el 2| 25,295 24,569 726
ol A 25,295 24,569 726
101 elAd4| 25,295 24,569 726
01 2= 25,295 24,569 726
= Ofl &F 25,295 24,569 726
oA RS
10,2993 x10H 17 Al 2t %128 21,010
OAlt 22 (AEH| A
10,299 x2H x4 A| 2b 52 4,285
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SN BSe
M. HESHBHI(ESH)(IIEH/IIE
Ce: I3l (e &
SN BB S(BH) - MBAY - BaS (ggz::) @(ijf;lﬁ% HRE2
Jl=23&3tl 82,840 82,840 0
Jl23Hl 82,840 82,840 0
201 B2 A 42,000 42,000 0
01 A2yl 24,000 24,000 0
= O & 24,000 24,000 0
OANREES 7Y 30,000& 111G x2& 660
Oax24d 28 7¢ 4,977,000 * 14! 4,977
OANEEE &9 M 100,000& *63| 600
OHZEA ST FHY| 810,000 =14 810
Ongle EH #¢ 240,000& *4[H x43] 3,840
O2AIl EH 7¢ 300,000& *2CH x63] 3,600
O=AMEX 72 (A4) 22,000& *10Ef A *83] 1,760
O=2AD, 28l =8 A4l 276,500 x23| 553
oHldY H#xJ] & dx2
30,000& =60+ 12& 2,160
Otlz2s & TA7Y 20,000& x5 «12& 1,200
OgR=X S20A I
8,000 x5H 8 x12& 3,840
02 =324l 18,000 18,000 0
= 0l & 18,000 18,000 0
ORER= 47,0003 128 564
O&ESAE A=H| 348,000& = 12& 4,176
OXNSAAH & SZIHEEES 60,0002 *1CH 60
Oske= 100,000& = 12& 1,200
o =83 Xl 100, 000& *123] 1,200
OA& HHI®X bl 300,000& x12& 3,600
O&IIANES 600,000& «12& 7,200
202 04 H| 29,700 29,700 0
02 EHOHI 29,700 29,700 0
= 0ff &F 29,700 29,700 0
O HNH| 225,000 11 «12& 29,700
203 Y= 11,140 11,140 0
01 JIA2SHLR=XH| 7,700 7,700 0
= 0l & 7,700 7,700 0
OgsHE 7,700,000& x 14! 7,700
02 HJAININMYRFAH| 440 440 0
= 0 4 440 440 0
OFJIA ERFAH| 40,000 *11H 440
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